































$$1 = -1?$$
ambiguity can cause problems:
$$1 = \sqrt{1} = \sqrt{(-1)(-1)} = \sqrt{-1}\sqrt{-1} = (\sqrt{-1})^2 = -1$$
Moral:
1. Be sure rules are properly applied.
2. Thoughtless calculation no substitute for understanding.

**Consequences of** 
$$1 = -1$$
  
 $\frac{1}{2} = -\frac{1}{2}$  (multiply by  $\frac{1}{2}$ )  
 $2 = 1$  (add  $\frac{3}{2}$ )  
**Consequences of**  $1 = -1$   
 $\frac{1}{2} = -\frac{1}{2}$  (multiply by  $\frac{1}{2}$ )  
 $2 = 1$  (add  $\frac{3}{2}$ )  
**Consequences of**  $1 = -1$   
 $\frac{1}{2} = -\frac{1}{2}$  (multiply by  $\frac{1}{2}$ )  
 $2 = 1$  (add  $\frac{3}{2}$ )  
**Consequences of**  $1 = -1$   
 $\frac{1}{2} = -\frac{1}{2}$  (multiply by  $\frac{1}{2}$ )  
 $2 = 1$  (add  $\frac{3}{2}$ )  
**Consequences of**  $1 = -1$   
 $\frac{1}{2} = -\frac{1}{2}$  (multiply by  $\frac{1}{2}$ )  
 $2 = 1$  (add  $\frac{3}{2}$ )  
**Consequences of**  $\frac{3}{2}$ )  
**Consequences of**  $\frac{1}{2} = -1$   
 $\frac{1}{2} = -\frac{1}{2}$  (add  $\frac{3}{2}$ )  
**Consequences of**  $\frac{3}{2}$ )  
**Consequences of**  $\frac{3}{2}$   
**Consequences of**  $\frac{3}{2}$ )  
**Consequences of**  $\frac{1}{2} = -1$   
 $\frac{1}{2} = -\frac{1}{2}$  (multiply by  $\frac{1}{2}$ )  
 $\frac{3}{2} = 1$  (add  $\frac{3}{2}$ )  
**Consequences of**  $\frac{3}{2}$ )  
**Consequences of**  $\frac{3}{2}$   
**Consequences of**  $\frac{3}{2}$ )  
**Consequences of**  $\frac{3}{2}$   
**Consequences of**  $\frac{3}{2}$ )  
**Consequences of**  $\frac{3}{2}$   
**Consequences of**  $\frac{3}{2}$ 

